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Note:r (1) Answer afl questions.
3 Each question carvies | mark. There are no negative marks,

{3 Answer to the guestions must be emtered only on OMR Response Sheer provided
separately by completely shading with H.B. Pencil, anly one af the circles 1, 2, 3or 4
provided against each guestion, and which is most appropriate o the guestion

i T« [ RS ai rod 1 b fgomp i it [ i L i 't

(URT 1 A B ‘:hlt."ERAM]E'IFMi:INU i -:111:;:--"-!'-‘r hadpe vivine ink £ hall nen

INSTRUCTIONS TO CANDIDATES

L Cafices should write their Hall Tickes Sumber only inthe space provided at the op JeR haind coner of this page, on
the leallctuttached o ihvis bookler and also inthe space provided on ihe OME Response Shecl. BESIDES WRITING,
THE CANDIDATE SHOULD ENSURE THAT THE AFFROPRIATE CIRCLES PROVIDED FOR THE
HALL TICKET NUMBERS ARE SHADED USING ILE. PENCIL ONLY ON THE OMR RESPONSE

; SHEET. D0 NOT WHRITE HALL TICKET NUMBER ANY WHERE ELSE.

2o lmmediately on opening this Quesion Paper Rooklet, check:

a)  Whether 200 multiple choice question: are printed (S0'questions in Mathematics, 25 questions in Physics,
25 questions in Chemiztey and D guestions in Engincering )

by In case of any discrepancy immedintely exchange the Question paper Book et of snme code by bringing
Ehe errar o the notice of invighlator.,

Lise of Caleulntors, Mathematical Tables and Logp books is nod permitted.

4. Cundidate musi emsure that hesshe has received the Correct Question Booklet, corresponding to
histher branch of Engincering. : _

F. Condidate should ensurg thai the booklet Code amd the Bookiet Serial Number, as it appears on this page
is entered ul ihe appropriate place on the OMRB Response Sheet by shading the appropriuic circles
provided therein using H.H. peacil onty, Candidate shoald note that if they fail 4o enter the Booklet Serial
Number and the Bookled Code va ihe OMR Response Sheet, their Answer Sheet will not be valoed,

v, Candidate shall shaile one of the circles 1, 2, 3 or 4 correspanding question on ihe OMR Kesponse
Sheet using HLB. Penedl only. Cundidate should note thai their OMR Response Sheet will be invalidated
il the circles apaimst the question are shaded wsing Black / Hlue ink pen / Dall pen / any other pencil
other than H.B, Pencil or il more than one circle is shaded against any question.

T Ome mark will be awarded for every oot answer. There ane no negative marks.

k. The OMR Response Sheet will not be valued if the candidate ;

{al ':'fit-ns the Hall Ticket Number in any part of the OMR Response Shee! cxoept in the space provided for
the purpose

(b} Writes any irrelevant matter including religious symbols, words, pravers or any comminication whasaever
i any part of the OMR Response Sheet.

(¢} Adopes any sdher malpractice.

B Rough work should b done anly in the space provided in the Cuiestion Pager Baaklet,

1. %o loose sheets or papers will be allowed in the examination lall,

L Timings of Tese: 10000 AM. 1o 100 BM,

12, Candidate should sasure that e/ she emers his / er name and appends signature on the Qeestion paper booklet,
leaflet attached 10 this guestion paper booklet and also on the OMB Response Sheet in the spoce provided.
Conelidate should ensure that the invagilator iits his sagniture on s guestion paper booklei, leafles anached 10
the guestion paper booklet and also on the OMR Response Shect,

15 Relore beaving the examinuion aall candedare should return both the VR Response Sheet and the leaflet
attached (o this question paper booklel 1o the imagilatar. Failure (o returm any of the above shall be construcd
az malpractice n the examination, Question paper booklel may be retained by the candidate.

I Tis bookbet contisins i okl of 32 pugees incledmg Cover page and the pages for Rough Work,
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MATHEMATICS

300

ITA=]0 3 0| thenAt=
00 3

(1) 31 {2y 9l 3) 27 (4) 811

. Feo 2 47

IfA=-2 0 -21|isaskewsymmetric matrix, then the valee of © is
EE

(1) 1 (2) 2 (3) 3 (4) 4

What is the number of all possible matrices with each entry as 0 er 1 il the order of mairices is
3=3
{1y 64 (2) 268 (3 32 (4) 236

(1) 1 (2) 2 (3) 3 (4) 4
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The solution of a system of lincar equations 2x—y+3z =9, x + ytr=hxr-yp+r=2is
(1) x¥=-lLy==2,z=-3 (2) x=3y=21z=]
(3) x=2,y=lz=3 4) x=Ly=2,z=1)
If goy= s penaa B =

Cra xeal x-ai TN - i

L. T 3 =

D %2 @ "% © 73 @ o

2x+4 A A A

)
St s [ e 1 ) .
=1y (x=1) "[x I (x—1) then §*"- is equal to

(1) A, (2) 2A, (3) 4A, (4) 4A

The period of the function fx) = lsin x| is
(1) = (2) 2x (3) 3n (4) 4n

lfﬁ*ﬂ-‘-li“,thnn(l—mﬁ].Ifl~-ooll.i]i:
(1 (2 o (3) 2 (4) -1

The value of sin 78° + cos 1322 js

V5 +1 V541 V5-1 J5-1
in 7 (2) = (3} F (4) —_
IFA+B+C = . then sin2A + sin2B + sin2C =
i1) 4 cosAsinB cos( (2} 4sinA cosB sinC
13) 4 cosA cosB cosC (4} 4sinA sinB sinC
The principal solution of Tuny = 0 is
(1) x=mr,ned (2) x=0
(3) x=(2n=1) w2 ne? 4) x=nzvra,nwel

H -
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The value of Tan ' (2) + Tan™' (3)is

1y = ()

F
2 @ 3 (4)

3
3 4

2

If the sides of a right angle triangle arc in A.P., then the ratio of its sides is
(1) 1:2:3 (2) 2:34 (3) 345 (4) 4:5:6

. Thevalueof rr.rr,is

{1y & (2) A? (H & 4y &
oo Bl N
i e e
rl r2 r3
| ] 2 '1— 3 . 4) .:
(1) % (2) I (3} I { A

Il a=6. b=5, =9, then the value of angle A is
(1) cos™ (29) (2) cos™ (2/5) (3) cos”' (719) (4) cos' (1/3)

. The polar form of complex number 1-i is

(1 \Et‘ mid (2) ﬁeﬂ.'l (3) \.FE!""Z (4) \‘&E-"”

If 1. 3, @° be the cube roots of unity, then the value of 2 s
(1) o (2) o (3) 1! 4y 0

I'hie intercept made on X-axis by the circle x* )= <2gx+2 firte =0 s

iy

If one end of the diameter of the circle x4y?=5x-8y+13 = 0 is (2, 7), then the other end of the

diameter is
(n G.n (2) (L.3) (3) (-3.-1) 4) (-1.-3)
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- The condition for a siraight line y = mx+¢ 1o be a tangent to the hyperbola I—;
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I'he radius of the circle vI+m™ (x” + 37 )~ 2ex = 2mey =0 is
(1} 2¢ (2) 4dc (3) 2 4) e

2 2
The parametric equations of the ellipse 5+ '}; =1 are
o

(1) x=asec, y=biang (2) x=bsind, y = o cosh
(3) x=acosh, y=bzind (4) x - acosech, y = bcod

The equation of the directrix of the parabola 2 = —Ty s
(1) By+7=0 (2) 8-7-0 (3) 7y+8-0 (4) Bx-7=0

2 3
5 —'t‘-l:—=| is
(1) e=aim (2) ¢-adm-F (3) C=m*+Hh (@) cd=am’

7 Jix-d-x is

x-—1

(I 3 {2) 2 (3 4 4 1
log i =
(1 =2 (2) nid (3) inf2 (4) 4
d
Eh“ﬂ-:x]:

-‘l L -r_ 8 I L
W - (2) Xlog; (3) Llog, @) | log,
i[!mhx}n

e +e’ e'=g’"
(n) 5 (2) —3 (3) e +e* (4) e"=e"
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34,

35,

3o,

d_ rﬂﬂ 1 [ ]__.il. =
dxl RS S
-1 i
M 137 @ o B} =i (4)
It'x—nn-r‘._y,r-2]:.1\\111":1!1‘-T‘I‘;i'=
. a
(1) -,Jlr{ (2) 'iE (3) = (4)
The derivative of ¢ with respect 10 Jx is
2Jx 2 £
(1 = (2) 2Jxe 0 37 (4)
Thcoquatinnuflhcnonnalmth:curvcy=§x‘althepuinl.(i.5}is
(1 x+ 20y =99 {2) x+ 20y =101 (3) x-200=99 (4)
Thrmglebclwnmth:cuwmf=4xmdf+f=5is
m 3 @) @) (3) tan'(d) @
o 24,2
Ir the +—--
= _]2] hi —,— @!’
(1) 6 (x*y) (2) 62y (3) 6 (4)
fcuscc:rdﬂ

(2) log (cotx/2) +C
{(4) -cosecxcotx+C

(1) log (cosec x + cot )+ C
(3} log {tan x/2) + C

WWW. manar esul ts. co.

Set Code :
Booklet Code :!_T_[

1+x

L

Jxe

x = 20p =101
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Ecm” XY=

256 256n
(0 03 @) 93
[F' @l ) dac=

() LT_}Fw @ LI .

n+l

dx
[{x+?}?r+ﬁ-
(1) Tan'(Vx+6)+C
(3) Tam'(x+7)+C

Itan"xdx:
(n J:.Tan"x+%log{| +x)+C

) Pran'x+C

d
]-!4-!"_

(1) log(l+e*)+C
) e+C

-

‘[I sin |xj dy =
-
2

(1y 0 2) 1

(3)

(3)

(2)
(4)

@)
(4)

(2)
(4)

(3)

Set cm.-@
Booklet cm:

128

afal '+ @) [H+'|}[f{.:]r' +C

2an™ (Vx+8)+C
2Tan™ (x + 1)+

1

I+ 28

xTan"x - log1+x* +C

log (14" + C
e+C

2 4) -1
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Arca under the curve f{x) =sinxin |0, n] is
(1) #sq. units (2) 2sq.unils (3) 65q. units (4) 8sq.umils

i d.‘.
The order of x° E;; +2x° ;‘;-3}'!1 is

(1 (2) 4 (3) 3 4) 2
&y (Y F_ 4y

Thtlhgmﬂfl-a‘%‘l'(d;) ]- :HE:-:- i%

(1) 4 (2)y 2 (1 1 (4) 3

The family of straight lines passing through the origin is represented by the differential cquation
(1) ydr+xdy=0 (2) xdy-yde=0 () xdc +ydy=0 (4) xdx—ydv=0

The differential equitation ‘—'ry-+E By HE s called
de hx+by+ [

(1) Homogencous (2) Fxact (3) Linear (4) Legender

The solution of differential equation % = =2y is

(1) yeT=xve () ye'=x+c (3) ye* =x+c W) y=x+c

The complementary funetion of (DMD™D+1)y=10is
(1) Ccosx+ Csing+Cpe (2) C,cosx+Csine+ Ce’
(3) C,+C,cosx +Csinx (4) (C,+Cx+Cxe

Particular Integral of (D-1)y =¢" is
i .1:4 : o

X o | _t _'__:l
() 2 {2) 1‘:! (3) IZE (4) 243
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PHYSICS

Twoquantities Aand B are related by the relation A/B = m where m is linear mass density and A is
force. The dimensions of B will be

(1} sameas that of latent heat (2} samc as that of pressure

(1) same asthal of work (4) same as that of momentum

The dimensional formula of capacitance in terms of M. L, Tand I is
(1} MLTT] (2) [ML7T'F] (3) LT (4) ML

ITL, m and » are the direction cosines of a vector, then

() I+m+a=1 (2) F+mim=1(3) -:-+—HL+:-| (4) tmn=1

The angle between i+j and j+k is
(1 o (2) %0° (3) 45° (4) 60°

A particle is moving eastwards with a velocity of 5 ms™. In [0 seconds th;: velocify changes 1o
5 ms™" northwards. The average acceleration in this time is

1
(1 Ems“’tmmnhnmh-wm (2) zero

I
(1) ; ms~ towards north 4) N ms~? lowards north-cast

The linear momentum of a particle varies with time 1 s p = a+ b+ which of the following is
correct?

(1) Force varies with time in a guadralic manner.

(2) Force is ime-dependent,

(3} The velocity of the particle is proportional to time.

(4) The displacement of the particle is proportional to 1.

A shell of mass m moving with a velocity v suddenly explodes into two picces, One part of mass
m/4 remains stationary. The velocity of the other part is
(1) v 2) 2v (3) 34 (4) 4v/3

10-4
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The velocity ol a freely falling body after 25 is
(1) 98ms"* (2) 10.2ms" (3} 18.6ms" (4) 196ms"

A large number ol bullets are fired in all directions with the same speed w. The maximum area on
the ground on which these bullets will spread is

- 5 B 5 0 =
{ e (2) pe 3) g (4 g

The minimum stopping distance for a car of mass m, moving with a speed valong a level roud, if
the coellicient of friction between the tyres and the road is p. will be

T g X L &
':lipg {}p,g i.'}4"g (4) 2ug

When a bicycle is in motion, the force of friction excreted by the ground on the two wheels is
such that it acts

(1} Inthe backward direction on the front wheel and in the forward direction on the rear wheel
(2) Inthe forward direction on the front wheel and in the backward direction on the rear wheel
(2)  Inthe backward direction on both the front and the rear wheels

{4) [Inthe forward direction on both the front and the rear wheels

In a perfectly inelastic collision. the two bodies
(1} sirike and explode {2} explode without siriking
(3) implode and explode (4) combine and move logether

Uinder the action of a constant force, a particle is experiencing a constant acceleration, then the
power is

(1) zero (2) positive

(3) negative {(4) increasing uniformly with time

11-A
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Consider the following two stalements:

A:  Lincar momentum of a system of particles is zero.

B: Kinetic energy of a system of particies is zero.

Then

(1) Aimplies B & B implies A (2) Adoesnotimply B & B does nol imply A
(3)  Aimplies B bul B does notimply A (4) A does not imply B but B implies A

An engine develops 10 kW of power. How much time will it take to 1ift a mass of 200 kegloa
height of 40 m? (Given g = 10 ms™)

(1) 4s (2) 35s (3) 8s (4) 10s
ITa spring has time period T, and is cut into » equal parts. then the time period will be

T
() 1Jn @ 7, (3) wT @ T

When temperature increases, the frequency of a tuning fork
(1} increases

(2) decrcases

(3} remains same

(4)  increases or decreases depending on the materials

2
Ifa simple harmonic motion is represenied by ii + =0, its time period is

2n 2n
(M 2nda ) 2z7a e 7z @ =

A cinema hall has volume of 7500 m’. It is required 1o have reverberation time of 1.5 seconds.
The total absorption in the hall should be
(1) BS0w-m? (2) 8230w-m® (3) 8250w-m® (4) 0.825w-m’

1A .
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To absorb the sound in a hall which of the following are used
(1) Glasses, stores {2) Carpels, curtains
(3) Polished surfaces {4) Plaiforms

IfN represents avagadro's number, then the number of molecules in 6 gm ol hydrogen at NTPis
(1} 2N (2) 3N {3) N (4) N6

The mean translational kinetic energy of a perfect gas molecule at the temperature TK is

(n %H (2) &T (3) gﬂ' (4) 2%r

The amount of heat given 1o a body which raises its temperature by 1°C
(1} waterequivalent (2} thermal heat capacity
(3) specific heat {4) temperature gradient

During an adiabatic process, the pressure of a gas is found to be proportional to the cube of its
ahsolute temperature, The ratio Cp/Cy for gas is

4 5
3 (3) 2 @ 3

() % (2)
Cladding in the optical fiber is mainly used to

(1) to protect the fiber from mechanical stresses

(2) 1o protect the fiber from corrosion

(3) to protect the fiber from mechanical strength

{4) 1o protect the fiber from electromagnetic guidance
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CHEMISTRY

The valency clectronic configuration of Phosphorous atom (AtNo. 15) is
(1) 3s3p (2) 33p'3d (3) 33PN (4) 3s'3p* 3

An element *A’ of ALNo. 12 combines with an element ‘B’ of ALNo.17. The compound formed is
(1) covalentAB  (2) ionicAD, (3) covalentAB, (4) ionicAB

The number of ncutrons present in the atom of  Ba'™ is

(1) 56 2) 137 (3) 193 (4) #1
Hydrogen bonding in water molecule is responsible for

(1) decrease in its freczing point (2) increase in its degree of ionization
(3) increase in its boiling point {4) decrease in its boiling point

*

In the HCI molecule, the bonding between hydrogen and chlorine is
(1) purelycovalent (2) purelyionic  (3) polarcovalent (4) complex coordinate

Potassium metal and potassium ions
i1} both react with water {2) havethe same number of protons

(3) both react with chlorine gas {4) havethe same electronic configuration

5.85 gms of sodium chloride were dissolved in water and the solution made upto 100 ml in a
standard flask. 10 ml of this solution were pipetted out into another Mask and made up with distilled
water into 100 ml of solution. The concentration of the sodium chloride solution now is

i1 0IM (2) 1.0M (3) O5M 4y 025M
Concentration of a 1,0 M solution of phosphoric acia in water is

(1) 033N (2) 10N (3) 20N 4y 30N
Which of the following is a Lewis acid?

{1} Ammonia (2) Berylium chloride

{3) Boron trifluoride (4) Magnesium oxide
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Which of the following constitutes the components of a buffer solution?
(1) Potassium chloride and potassium hydroxide

(2) Sodiumacetate and acetic acid

(3) Magnesium sulphate and sulphuric acid

(4) Calcium chloride and calcium acetate

Which of the following is an clectrolyte?
(1) Acetic acid (2) Glucose (3) Urea (4) Pyridine

Calculate the Standard emf of the cell, Cd/Cd**/Cu’*Cu given that E* Cd/Cd™ = 0.44V and
E* Cw/Cu? = (=) 0.34 V.
(1 (<)1.0V 2y 10V (3) (078V (4) 078V

A solution of nickel chloride was electrolysed using Platinum electrodes. After electrolysis,
(1) nickel will be deposited on the anode (2)  C1, gas will be liberated at the cathode
(3) H,gas will be liberated at the anode  (4) nickel will be deposited on the cathode

Which of the following metals will undergo oxidation fastest?

{1 Cu {2) Li (3) Zinc (4) Iron
Which of the following cannot be used for the sterilization of drinking water?
(1} Ozone {2) Caleium Oxychloride

(3) Potassium Chloride (4) Chlorinc water

A water sample showed it to contain 1.20 mg/litre of magnesium sulphate. Then, its hardness in
terms of calcium carbonate equivalent is

(1) LOppm (2) 1.20ppm (3) 0.60 ppm (4) 2.40 ppm
Soda used in the L-S process for softening of water is, Chemically.

(1) sodium bicarbonate (2) sodium carbonate decahydrate
(3) sodium carbonale (4) sodium hydroxide (40%)

The process of cementation with zine powder is known as
{1} sherardizing (2) zincing {3) metalcladding (4) electroplating
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94, Carrosion of a metal is fastest in
(1) rain-water (2) acidulated water (3) distilled water (4)  de-ionised water

95.  Which of the following is a thermoset polymer?
(1} Polysiyrene (2) PVC
(3) Polythene (4) Urea-formaldehyde resin

96, Chemically, neoprene is
(1) polyvinyl benzence (2) polyaceiylene
13} polychloroprene (4) poly-1,3-butadiene

97, Vulcanization involves heating of raw rubber with

(1} seleniom element (2} clemental sulphur

(3)  amixture of Se and elemental sulphur (4) amixture of selenium and sulphur dioxide
Y8. Petrol largely contains

(1) amixture of unsaturated hydrocarbons C.-C,

{2) amixture of benzene, toluene and xylene

(3} amixwure of saturated hydrocarbons C - C,,

(4) o mixture of saturated hydrocerbons C.-C,

99.  Which of the following gases is largely responsible for acid-rain?

(1) SO,&NO, {2) CO, & water vapour
(3) CO,&N, (4) N,&CO,
100. BOD stands for
(1) Biogenetic Oxygen Demand (2) Biometric Oxygen Demand
(3) Biological Oxygen Demand (4) Biospecific Oxygen Demand
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CERAMIC TECHNOLOGY

Which of the following is not a member of *Beach Sand Minerals™?

(2)
(4)

(1) Zircon
13} Andalusile

Sillimanite
Rutile

The presence of Wallastonite in a ceramic composition leads to:

(2)
(4)

(1) Lowmoisture expansion
(3) High Green and fired strength

The crystal structure of Baddeleyite is:

(1) Monoclinic (2)
(3) Tetragonal ()
The Fuller's earth is

(1) Kaolinite (2)
{3} Mica (4)

Lime stone is used in the manufscture of
) (2)
(4)

(1) cement
(1) Soda-Lime-Silica Glass

Which of the following raw material is Toxic?

(1) Pyrophillic  (2) Asbestos (3)
Muskovite is also known as
(1) White Mica {2) Black Mica (3)

WWW. manaresul ts. co.in

Reduced drying and firing shrinkage
All of the above

Cubic
Orhorhombic

Montmorrilonite
Diatomaceous earth

Silica Refractory
All of the above

(4) Chlorite

Vermiculite

Fed Mica {4} Brown Mica

(CRT)
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110.
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114,

115

What is the position of Andhra Pradesh in mineral wealth?
(1) 1 2) 3 (3 2 4)

. Raimahal is associated with which mineral?

(1) ChinaClay  (2) BallClay (3) Pyrophillite  (4)

Potash Feldspar is also known as
(1) Onhoclase {2) Plagioclase  (3) Pegmatite (4

Chemical formula of Fluorspar is
(1) CaF, {2) CaSiF, (3) Call, {4)

Largest Bauxite deposits are available in which District of ALF.
(1) Visakhapatnam (2} Krishna (3) Nellore (4)

Which of the following is used as a Binder?

(1) Dextrin (2) Colex
(3) Starch (4) All of the above

Which of the following statements is wrong?

(1) Formula of Tale is 3Mg0O,Si0,H,O

{2) Hardness of talc is | in Moh's scale ol hardness
{3) Talc is largely used for making Cordicrite ceramics
{4) Noneofthe above

Moleeular formula of Kaolinite is

(1) ALO,2Si0,2H,0 (2) ALO,4Si0.H0
(3) ALO,SiO, (4) 3ALO,2SiO,
184
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Vermiculite

Soda Feldspar

Chittoor
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116, Bution test is used to determine
(1) MOR (2) Compressive strength
{3) Fusibility (4) Porosity
117, Monoporossa is a
{1y Single fired Mloor tile (2) Double fired floor tile
(3) Single fired wall tile (4) Double fired wall tile

118. Glass content of porcelain bodies is in the range of
(1) 20-40% (2) 50-80%
(3) 80-90% (4) 10-20%

119. Floor tile is a class of
(1) Eanhenware (2) Stone ware
(3) Hard Porcelain (4) Soft Porcelain

120. The addition of which Oxide in glaze composition creates a malt surface?
(1} Zn0O (2) Zr0, (3) S0, {4y PbO

121. Stonewareisa
(1) Crudesalt glazed Porcelain made from cheaper grade raw material
(2) Thoroughly vitrified translucent ware with hard glaze
13) Porous semi vilreous ware with soft glaze
{4) Vilrified translucent ware with soft glaze

122. Soft porcelain is fired below
(1) looo°C (2)y 1250°C (3) 1100°C (4) 1350°C

(CRT)
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Filver press is mainly used in the manufacture of
(1) Ceramic Insulator Manufacture {2) Cement Manufacture
{3)  Glass Manufacture (4)  Refructory Manufacture

Which of the following is the dunting of whiteware hodies?
(1) Deformation after firing

(2) Cracking due to thermally induced stress

(3) Rolling out of glaze after firing

{4) Mone ofthe above

While making powder for the manufacture of ceramic tiles by spray drying process, which of the
following is used as deflocculant for slip preparation?

(1) Sodium Silicate (2) Sodium Tannate
(3) Tri-Sodium Phosphate (4) Allofthe above

Which of the following is an advantage for Lead compounds in Glaze:
(1) ltgives higher brilliance due to higher refractive index

(2)  Itlowers the coefficient of expansion as compared to alkalies
(3} Itlowers the modulus of elasticity

(4) Allofthe above

. Consistometer is used

(1) To determine specific gravity of slip
(2} To determine viscosity of slip

{(3) 'Todetermine flow of slip per minute
(4) MNoncof the above

204 {CRT)

WWW. manaresul ts. co.in



128,

130,

151,

132.

133.

Set Code :[ T2 |

Booklel Code :

2

The kiln furniture to fire HT Porcelain insulators is made of
(1) Mullite (2)  Alumina-SiC
(1) Claybonded SiC (1) Cordierite

. Which of the following is a glaze defect

(1) Hanging in higher altitude furnace vertically
(2) Laying down on a longer furnace horizontally
{(3) Inanormal chamber fumace by a burner

{4) None of the above

For coloured glazes, which of the following factor affect the color:
{1} Colouring Agenl (2) Kiln Atmosphere
{3) Firing temperature (4) Allthe above

In order to keep the glaze in suspension a small portion ranging from 4 to 12% which is added to
the ball mill

(1) Borax (2) CaCo,

(3) Alm (4) Clay

Ofthe following, which is not used as araw material in Engobe?
(1) ChinaClay (2) Quarte
(3) Runle {4) Feldspar

Percentage of Silica in a Silica brick is
(1) 85-90% (2) 90-92% (3) 93-98% (4) B0-B5%

. Maximum temperature attainable for continuous heating for $iC heating element is

(1) 1200°C (2) 1450°C (3) 1600°C (4) 1700°C

11-A
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The Aluminous Fire brick contains
(1) 30-33%of ALD, (2) 38-45% of ALO,
(3) 45-50% of ALO, (4) 50-60% of ALO,
Melting point of Corundum is
(1) 1723°C (2) 2050°C (1) 2300°C (4) 1810°C
Silica bricks show good thermal shock resistance above
(1) 600°C (2) B00°C (3) 400°C (4) 900°C

The breaking or cracking of refractory brick in service, to such an extent that pieces are separated,
leaving new surfaces of the bricks exposed. This definition applics to

(1) Erosion (2) Abrasion (3) Corrasion (4) Spalling
The GROG isa

{1} Pre-Calcined raw material (2) Rejected raw material

(3) Rejected alumina brick (4) Rejected Magnesite brick

+ A course brick having an inclined face from which an arc is sprung. This definition applics to

(1) Keybrick (2) Soldier course -
{3) SkewBrick (4} Skull

Which of the following Refractory Oxides volatilizes in presence of water?
(1) BaOQ (2) BeO (3) Cr0, (4) ThO,

For dry ramming masses for ling of Induction Fumnaces, the bonding agent is
(1) Ceramic bonding {2) Plastic bonding
(3) BothCeramic and Plastichonding  (4) MNone of the above

24 (CRT)
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A good quality Mullite brick chould contain, Mullite on an average
(1) 85% (2) R0% (3) 60% 4) 70%

Plumbago crucible is
{1} Leadcrucible (2)  Alumina crucible
(3) Silicon Carbide erucible {(4) Graphite crucible

Which of the following is not a neutral refractory?
{1} Chrome refractory {2) Carbon refractory
{3) Silicon carhide refractory (4) Zircon refractory

. Which type of refractory do you recommend for Refractory lining of *Coke oven'?

(1) S5%fire clay bricks (2) Magnesite bricks
(1) Silica Bricks {4) Carbon blocks

Which one of the following do you use as a binder (2%) in Silica brick manufacture
(1) Tiama (2) Zirconia
{3) Lime (4) Magnesia

flast fumace hearth is made of
{1) Fire Clay bricks {40% alumina) (2) Carbon bricks
(3) Zircon bricks (4) Vermiculite bricks

Dead Burning of Magnesite is achieved al (°C)temperature
(1} 1200-1350 {2) 800-950 (3) 1600-1750 {(4) 1300-1450

A bridge wall is observed in
(1) Blast furnace (2) Glass Tank fumace
(3) Annealing Fumace {4) Rcheating furnace
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151. Which of the following is not @ common type of De-vitrification stone?
(1) Tridymite (2) Quarz
(3) Cristoballite (4) Wallastonile

152, Chalcogenide glasses are used as:
(1) Radiation shicld glass {2) LR Transminting Glass
(3) Photo chromatic Glass (4) LascrGlass

153. Which of the following is not used in photosensitive glasses?
(1} Cu (2) Pb (3) Ag (4) A

154. Which of the following oxide is not a glass former?
(1) BO, (2) SO, (3) GeO, (4) CrO,

155, Which of the following is a nucleating agent in a Glass gystem?

(1) TO, (2) CaF, (3) Zn0, {4) Allof them

156. Pyrex Glass contain
(1) Boron Trioxide (2)  Aluminium oxide
(3) Lead oxide (4) Zincoxide

157. Gold-Ruby and Copper-Ruby glasses are
(1) Colloidal color glasses {(2) Photo sensitive Glasses
(1) Photochromic Glasses {4) None of these

158. Which of the following system is called Crystal Glass?

(1) K0PHO-SIO, (2) Na,0-PbO-SIO,
(3) K,0-BaDSiO, (4) Na,0-Ca0-SiO,

WWW. manar esul ts.co.in
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159, Optical Glass containing no Lead oxide is called
(1} Flim Glass (2) Opal Glass
{3} Crown Glass (4} Crystal Glass

160. To remove green tint in the molten glass is due to the presence of
(1) MnQ, (2} Chromic Oxide
(3) Ferric Oxide (4) Co

161. A criteria for Glass formation is
(1) A low nucleation rale
(2) High Viscosity at or near the melting point
{3) Theabsence of nucleating heterogeneities that can act as nucleating agents
{4} Al of the above

162. Which of the following is not a refining agent?
(1) As0, (2) 5b0, (3) NaNO, (4) TO,

163. Which of the following do you use to impart yellow color in Glass?
(1) ods (2) FeS (3) CuS (4) ZnS

164. Which glass in the list below given is not made by pressing?
(1) Dishes {2) Tumblers (3) Lampshell (4) T.V. Picture tube

165. The E-Glass, S-Glass and Z-Glass are
(1) FibreGlass  (2) Optical Glass (3) SheetGlass  (4) Toughened Glass

166. The average temperature thal is maintained in a Gluss Tank Furnace is
(1) 1500-1550°C  (2) 1400-1450°C (3) 1300-1350°C (4) 1600-1650°C
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167. Which of the following is not used in refining of Glass?
{1) KNO, (2) Na.SO,
(3) AsQ, 4) Bi,O .

168. Which of the following is used to control the setting of the cement?
(1) Lime (2) Gypsum
(3) Sodium Chloride (4) Silica

169, The soundness of cement is measured by
(1) Vical Apparatus {2) Blain'sapparatus
(3) Autoclave expansion {4) MNonc of these

170. Which ofthe following phase occurs in maximum amount in Portland cement?
{1y €8 (2) CS (3) CA (4) CAF
171. Which ol the following is Pozzolona?
(1) Calcined Clay (2) Rice Husk
{3} FlvAsh {4) All of the above

172, What is the % of Ca0 in Portland cemeni?
(1) 40-45% {2) 60-65% (3) 50-55% (4) 70-75%

173. How much quantity of Gypsum is added to the clinker during grinding as a set additive as percentage
of clinker?
(1) 10-12% (2) 4-6% (3) 1-2% (4) . 15-20%

174, What is the percent of water of consistency of Portland cement?
(1) 40% (2) 44% (3) 30% (4) 34%

CRT)
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Which of the following phases is the cause for Flash set of cement”
(1 Cs 2) €5 (3 CA (4) CAF

Major phase in high Alumina cement is
(1) Calcium Aluminate (2) TriCalcium Aluminate
(3) Tetra Calcium Alumino Ferrite (4) None of these

Which Electrical ceramics has a high coefficient of thermal expansion?
{1) Zircon Porcelain {2) Cordierile
{3) Low Loss Steatite (4) Magnesium Titanate

The Fullerene can be used as
(1) Semiconductor (2) Bio-Ceramics
(3} Superconductor (4) Optical ceramics

Where is availability of Fullerenc discovered in A.P.7
(1} Kadapa Dist (2} Mahaboobnagar Dist
(3) Nellore Dist (4) Prakasam Dist

Which of the following material can be used as a Varistor?
(1) SiN, (2) Sic (3) BN (@) TC

The cubic Lircon has
(1) Flourite structure (2) Perovskite structure
(3) Wurtzile structure (4) (lmenite structur:

Which of the following carbide has the highest melting point?
(1y wC (2y ZC (3) HKC (4 TiC
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I83. Which of the following is not a Low Loss ceramic:

(1) Steatite {2) Forsterite (3) Wallastonite (4) Rutile

184, Which ol the following is not a type of ceramic - Metal seal:
(1) Compression seal {(2) Butt seal
(3) Pin scal (4) Rodseal

185, Which of the following material is known as ceramic steel?
(1) 70, (2) ALO,
(3) MgO {4) Cr,O,

186. Which of the following Ferrite is a permanent magnet?
{1} Ni-Zn Ferrite (2) Mg-Mn Ferrite
(3) Barium Hexa Ferrite {4) Co-ZnFemite

187. The Pyrometric cones actually does
(1) Pyrometric means measurement of heat in the kiln
(2} do really measure the amount of heat
{3) measure how much heat-cnergy the ceramic materials in the kiln have absorbed
(4) noncis right

|88, Feldspar is used exiensively in enamels as:
(1) AnOpacifier {2} A colorant
(3)  Arawmaterinl (4) Anagent which increases refractive index

189. The ground coat enamel for steel are melted at a temperature ranges of
(1) 500-550°C (2) 700-750°C
(3) 900-950°C (4) 1200-1250°C

(CRT)
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The adhesion of fired enamel 1o metal base is tested by
(1) Scratch test {2) Tensile test
(3} Impact test (4) Compression test

The enameling iron is
{17 Low ecarbon steel (2} Cold rolled steel
(3} Both{aandb) {4) Noneof{aand h)

. Which ofthe following is used as an Opacifier for Silicate Glass Media?

(1) Sn0, (2) Zr8i0,
(3) T, (43 Al of these

Acid resistance of enamel is tested with
(1} Hydrochloric acid (2} Citric acid
(3) Sulfurie acid (4) Tartaric acid

Which is not adopted to improve the chemical resistance of enamel:
(1) Si0), content is increased (2) TiO, content is decreased
(3) #r0,is imroduced {4) B,0,conlent is increased

The pouring of molten enamel in to water 1o disintegrate in lo smaller particles is known as

(1} Quenching (2) Fritting
{3) Granulation (4) MNone of these

Cobalt Oxide is used in ground coat of enamel, because
(1) gives Blue color _ {2) adherence to metal is excellent
{3) aandbare wrong (4) aand bareright

(CRT)

m -
WWW. manaresul ts. co.in



198.

199.

204,

Set Code :I

Booklet Code :| A |

197, The calories or thermal units contained in one unit of a substance and released when the substance

is burnt is

i1} Thermal unit (2} Calorific Value

(3) Gross calorific value {(4) None of these

Which pyrometer do you use to measure a temperature of 1200°C

(1) Optical Pyrometer (2) Radiation Pyromeier

(3) Thermocouple (4) Buller'srings

Where do we have largest deposits of lignite in India?

(1) Ranigunj, Sharkhand {2) Nevveli, Tamilnadu

(3) Ramagundam. Andhra Pradesh (4) MNone is right

Which kiln do you use to fire floor tiles in fast firing technology?

i1} Tank furnace (2} Roller Kiln '

{3) Rotary Kiln (4) Blast furnace
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